


SBI MEMORY BASED PAPER 

DISCUSSION



Error Detection (Q1 TO Q5)

The following sentence has been split into five segments. 

Identify the segment that contains a grammatical error. 



1. Education do not (A)/ mean teaching people (B)/

to know what they do not (C)/ know; it means

teaching them (D)/ to behave as they do not behave

(E)/.

1. A

2. B

3. C

4. D

5. E

Answer: 1)



2. His grades are (A)/ to low to secure (B)/ admission 

in (C)/ a prestigious college. (D)/ No error (E).

1. A

2. B

3. C

4. D

5. E

Answer: 2)



3. I can scarcely (A)/ wait until Thursday (B)/ next

than we (C)/ will again be in (D)/ one another's

company (E)/

1. A

2. B

3. C

4. D

5. E Answer: 3)



4. The ceasefire on the line of control is barely 

holding up (A) /with infiltration from the Pakistani 

side (B) /adding to the local Kashmiri youth willing 

to pick up the gun (C) / opening any other half front 

for the military (D) /No Error (E) and changed their

1. A

2. B

3. C

4. D

5. E
Answer: D)



5. Large section of Indian media have been

compliciting (A) /in this cover up, keeping the

public in the dark (B) / and blocking the feedback

loop that keeps democratic governments (C) /honest

and responsive (D) /No error (E)

1. A

2. B

3. C

4. D

5. E
Answer: A)



FILL IN THE BLANKS (Q6 TO Q10)

Pick out the most appropriate word from the words

given below each sentence to complete it

meaningfully.



6. The governments should consider incentives

to increase adherence to COVID appropriate

behavior and _________ public subsidies for

masks including provisions for free mask

distribution.

A. Travel

B. Explore

C. grant

D. Exhort

E. Transition

Solution- B



7. Many individuals ____ on sleeping medications to

sustain a good night's sleep.

1. Bargain

2. Cry

3. Rely

4. Pivot

5. Hinge

ANS-3 Rely



8. The dissolution of the monasteries in Henry

VIII's ________ has never been forgotten.

1. Rain

2. Reign

3. Root

4. Route

5. Glare

ANS- 2. Reign



9. The welfare models of the Government in 

_______ food security to poor households and 

designing gender budgeting in energy infrastructure 

are also welcome. 

A. Modeling

B. Protecting

C. Issuing

D. Providing

E. E. Delivering

ANS- D. Providing



10. Any attempt at fiscal consolidation at this 

juncture employing capital expenditure 

________rather than a tax buoyancy path 

can adversely affect economic growth.

A. Compensation

B. Forces

C. Scaling

D. Compression

E. Relaxation

Ans. D



CLOZE TEST (Q11 TO Q15)















WORD SWAP (Q16 TO Q20)





Q 16 The focused (a) fact is that after leaving the 

EU, the UK is trying to scratch (b) its trade policy 

almost from rebuild(c) at a time when, broadly 

speaking, many governments are uncomfortable(d) 

on domestic economics. 

A. b-c

B. a-d

C. c-d

D. a-d & b-c

E. No changes required



Q 17 Many people have accused Australia's state(a) and 

federal(b) governments of allowing(c) the rich and 

famous during the pandemic by favoring(d)them to 

travel freely to and from the country. 

A. a-b 

B. c-d 

C. b-d 

D. a-c 

E. No changes required



Q 18 Mr. Modi directed that intensive(a) containment and 

active support (b)should continue in clusters(c) reporting 

higher cases and required technical surveillance(d) be 

provided to states which are reporting higher cases 

presently. 

A. a-c 

B. c-d 

C. b-d 

D. a-d 

E. No changes required



Q 19 The collapse of American military power in 

Afghanistan, the developments(a) takeover of Kabul by the 

Taliban and the continental (b) rise in the influence of 

Pakistan and China are subsequent(c) of high concern for 

India’s consequent(d)security interests. 

A. a-c 

B. b-d 

C. c-d 

D. b-d & a-c 

E. No changes required



Q 20 The American military peripheries(a) has shrunk 

dramatically(b) on the core Eurasian landmass, though it 

has a substantial(c) military presence on the continental 

footprint(d).

A. b-c 

B. c-d 

C. a-d 

D. a-c 

E. No changes required



PARAJUMBLE(Q21 TO Q23)



The question below contains five scattered

segments of a sentence. Indicate the

sequence which correctly assembles the

segments and completes the sentence.



A. of many sorts show 

B. both plants and animals 

C. growth habits and even modes 

D. remarkable changes in form, 

E. of reproduction to adapt to changing environment

1.BADCE 

2.ABCED 

3.CAEDB 

4.BDCEA 

5.CAEBD



A. mass formal education 

B. part of all industrial 

C. began in industrial society 

D. societies in India 

E. and is an established

1.ABCDE 

2.CDEBA 

3.DEBAC 

4.BECDA 

5.ACEBD



A. as a few hours before

B. distant and as recent 

C. Alzheimer's disease impairs 

D. a person's ability 

E. to recall memories, both

1.ABCED 

2.BCEAD 

3.DEACB 

4.CDEBA 

5.ADECB



Q 24-25 In each of the questions below, four sentences are given that 

may or may not contain an error. Choose the one that is 

grammatically as well as contextually correct and meaningful. If all 

the sentences are correct, mark 'All are correct as your answer'.

1.Great Expectations were written by Dickens. 

2.Every man and woman are required to check-in. 

3.The Grapes of Wrath take a long time to read. 

4.Either Shilpi or Raj is to blame for the accident. 

5.All are correct.



Q 24-25 In each of the questions below, four sentences are given that 

may or may not contain an error. Choose the one that is 

grammatically as well as contextually correct and meaningful. If all 

the sentences are correct, mark 'All are correct as your answer'.

1.Either the bears or the lion has escaped from the zoo. 

2.Teachers actively engaged in working at progressive education, 

defending the curriculum they developed and finding ways to expand 

it. 

3.The greatest challenge of the Americans is understanding the 

mindset of Eastern Europeans. 

4.Ten minutes are enough time to get there. 

5.All are correct








